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Precalculus Name:
Conic Section - Circles & Ellipses (Review) Period:
1.

Determine which equation below is a circle and which is an ellipse.

a. Ox'-9x+5y:-100y+13=0 b. 9%’ -18x+4y’+16y-11=0
2
circle = X x y> have

eLLipse = X2 & y2 have
he Same L.C.

diffeyent Leading
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2. For each equation below, put it into standard form for that particular shape.

a. 9+ 4y? =_3§

b. 4x’+4y’-léx+24y+20=0

¢ 4x?-24x+ 10y*-100y = -246
o * 4x2+yg?-4xroy5)=0 4(()?—3(:);;:'.,'_3;{0(5-4)11—u;g+.2§_ = -6+ 36 + 250
4’ - - =
g4 !i: l (X2,4¥+i)+(y+2+byf_j__)=-5fifi ___I-fo—_L 0
* ! (x-2)*+(y+3)*=8 (x-3)*, (y-5)° =1
eLLipse circLe o ‘f
euipse

3. Graph the circle: 2x2 + 2y2 - 28y + 96 =0

2(X? +y2 -11y r #8) =0

2 2
X2 4 (y2 -1y +H41)= g 41
X +y-7)*=1

Center: (0,7)
r=1
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4. Graph the ellipse: 4x? + 16x + 49y? - 294y + 261 =0

4(x* +4x+ i)+4»q(32 -53*1') =2 v+ 4l [
4(x+2)*+ 49(y-3)? = |ag <
19 16 il

(x+2)* (u-2)2

49 4 h Center :(-2,3)
W=7 (mayor)
'Fo&l:.,72-22 ,\l‘% b=2 (winor)

g (-9+43J8,3)7, . Liiiiiiiiiwed
=3{5 (-z-aﬁs,a)i*"’“

v, .

v
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5.  For each ellipse, determine the coordinates of the foci.

(x+1)* (y-2)° x-2° (-5
6 36 =1 conter :(-1,2) b. e

Tmajor! = J]m center: (2,5)
«F: lb?.,l-'i =\r2_ =2 5 e
{:: ,22-'1 —,.r.S-
(-1,2-2J%)

(2-13,5)
(-1,2+2]5) (2+43,5)

1

6. Write the equation of the ellipse with a major axis from (-3, 5) to (9, 5) and a minor axis that is 4 units long.
ma|oR* -39 =12
(x-3)* +(y-5)* = | A=t ,b=2

P

36 4

Center: —3+6 => (3,5)

7. Write the equation of an ellipse whose focal points are [—3,2] and (5, 2) and has a minor axis of length 8.

majoR (paraw to) X -axIS J

(x-1)%, (y-2)* .
B g 0 A

’34“{': 1
(1,2) 1= m

lo= a2 -1b =>a= {32

8. Write the parametric equations of an ellipse whose center is at (-2,3) and whose major axis (vertical) hasa” 12
length 10 and minor axis of length 2. b=5
a=1
X= Cost -2
Y= 5bsing +3

9. Write the parametric equations of a circle whose center is at (-1, 4) and has radius of length 4.

X="cost -
y=Hsint +4

Ellipses (2) Page 2



